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1. 不定積分

∫
x2

x2 + 1
dx を求めよ．

(解)
[
tan−1 x

]′
= 1/(x2 + 1) より∫

x2

x2 + 1
dx =

∫ (
1− 1

x2 + 1

)
dx

=x− tan−1 x+ C

である．ここで，C は積分定数である．

2. 不定積分

∫
x2

(x+ 1)2
dx を求めよ．

(解) x2 = (x+ 1)2 − 2(x+ 1) + 1 より

x2

(x+ 1)2
= 1− 2

x+ 1
+

1

(x+ 1)2

と部分分数分解でき，∫
x2

(x+ 1)2
dx = x− 2 log |x+ 1 | − 1

x+ 1
+ C

となる．ここで，C は積分定数である．

3. 不定積分

∫
6

x(x3 + 2)
dx を求めよ．

(解) 6 = 3(x3 + 2)− 3x3 より∫
6

x(x3 + 2)
dx

=

∫
3(x3 + 2)− 3x3

x(x3 + 2)
dx =

∫ (
3

x
− 3x2

x3 + 2

)
dx

=3 log |x | − log
∣∣x3 + 2

∣∣+ C = log

∣∣∣∣ x3

x3 + 2

∣∣∣∣+ C

となる．ここで，C は積分定数である．

4. 不定積分

∫
x4 + 1

x2(x2 + 1)
dx を求めよ．

(解) 関係式 x4+1 = x2(x2+1)+ (x2+1)− 2x2 より∫
x4 + 1

x2(x2 + 1)
dx =

∫ (
1 +

1

x2
− 2

x2 + 1

)
dx

=x− 1

x
− 2 tan−1 x+ C

となる．ここで，C は積分定数である．



5. 不定積分

∫
4

(x− 1)2(x+ 1)
dx を求めよ．

(解) 関係式 2 = (x+ 1)− (x− 1) より

4 =2(x+ 1)− 2(x− 1)

=2(x+ 1)− {(x+ 1)− (x− 1)}(x− 1)

=2(x+ 1)− (x+ 1)(x− 1) + (x− 1)2

であるから，

4

(x− 1)2 (x+ 1)
=

2

(x− 1)2
− 1

x− 1
+

1

x+ 1

と部分分数分解でき，∫
4

(x− 1)2(x+ 1)
dx

=− 2

x− 1
− log |x− 1 |+ log |x+ 1 |+ C

となる．ここで，C は積分定数である．


